ct (cm) | YieldinBin A YieldinBinB  YieldinBinC  Yield in Bin D
10 1.959 £ 0.041 6.88 £ 0.08 3.33 £0.05 0.919 +0.028
50 2.357 £0.031 6.62 = 0.05 1.095 £ 0.021 0.389 £ 0.013
100 1.553 £0.026 4.007 £0.041  1.289 +£0.023 0.472 +£0.014

200 0.877 £0.027 2.240+£0.043  1.066 £ 0.030 0.411 +£0.019
400 0.401 £ 0.021 1.034 £0.033  0.642 £ 0.026 0.222 £0.015
600 0.238 £ 0.014 0.708 £0.024  0.459 £0.020 0.161 £0.012
800 0.162 £ 0.012 0.559 £0.023  0.318 =0.017 0.119 +£0.010
1000 0.115 £ 0.010 0.432+0.019 0.279 £0.015 0.073 = 0.008
1200 0.108 £ 0.010 0.350 £0.017  0.233£0.014 0.076 £ 0.008
10000 0.0178 £0.0039 0.072£0.008  0.033 £0.005 0.0052 £+ 0.0020




